

② Reformation of Rail cut

$$6 \times 3.5 \times 1.2 \times 0.3 = 7.56$$

$$5 \times 3.25 \times 1.3 \times 0.3 = 6.34$$

$$12 \times 3.75 \times 1.5 \times 0.3 = 20.25$$

$$10 \times 3.0 \times 1.6 \times 0.3 = 14.40$$

$$15 \times 2.5 \times 1.9 \times 0.3 = 15.75$$

78.70 m

8388 m

② making up loss of profit

$$4 \times 30 \times 0.8 = 96.0$$

$$4 \times 15 \times 0.6 = 36.0$$

$10 \times 20 \times 2 = 160$

080

298.0 m²



Continuation

$$A = 957.75 \text{ m}^2$$

Continuation

Continuation